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TNSET 2024
Module Name : General Paper
Exam Date : 09-Mar-2025 Batch : 09:00-12:00
Sr. No. General Paper
PAPER I

Select the correct statement related to learner centred approach

(a) Pupil is actively involved in the teaching-learning process.

(b) The main function of the teacher is not to instruct but to evoke learning.
Select the correct answer.

SHHCMITH 6L S{EWIE N6 M QS TLFLITeT FflWmeT Famenms CHIHOHH &80 LD.

(a) nmevoTel T HMLISH6 - HHMEY QFWILLITL 1960 3B HOMS FFH LG S6V.

(b) A flwfler WHEH W QFWeLLMH HnflelmisSialg6060, LDTMITES SMHMEN6VS Seuor(H eUsMELD.
Fflwumer LG Mg CHIHOSHH E&HaLN.

A (a) only correct
(a) LG &Fifl
B: (b) only correct
(b) @D &ifl
C: Both (a) and (b) are correct
(a) LDMHMILD (b) @TevoT(HILD &F1fl Wi MeoTem 6l
D : Both (a) and (b) are incorrect
(2) LDODILD (b) GTEOTOILD F6UDTEITEnEY

2 Which of the following learning approaches allows the students to use their thinking skills in order to discover information and unfold the truth ?

L9 6tTer (1B 6 6BTaU D MIEIT 6TTHS 2T (LDEM M LOMETTa T8 6T &HMHM Sy &hi& 6T FiH G ement Hmeirsemarll LTSS
BHHEUH6TE G60oT(H L1955 2_sorennemnl QeauefliLI(HSHS DR &SR MSI?

A Constructivist approach

SLLeMLOLIL| S{E0IG (LMD
B : Behaviouristic approach

BLSOS TS MM
C: Invasive approach

261(HDIEYLD WG PEDD
D: Cognitivist approach

SMWIUTHMEH TGS DM

Arrange the following is the correct sequence with regard to 'the five-stage model' of conditions required for learning.
(1) Transformation

(2) Presentation

(3) Engagement

(4) Reflection

(5) Exploration.

HHMNGGS CHemallLmen 'Bba Blenev nmH fluller LilgBlensv&sener LlsreumeusoreummleS b &flwmer euflenguiev
CHMISH 0 5.

(1) 2_BLTMHMLD QLIMISE

) Nen&E T(H & SIMTSSH60

3) UBICHEMEEF QFUIH6V

* Jreudgsey

(5) U16e| QFUIHE

A (2),(1),(5), (3) and (4)
2,1,5,3 MM 4

B: (3),(5,(1),(2) and (4)
3,5,1,2 MHoLD 4

C: (5),(1),(2),(3)and (4)
5,1,2,3 oHmiLb 4

D: (5),(1),(4),(3)and (2)
5,1,4,3 nHmILD 2

4

In which of the following, the learner is expected to take responsibility of his/her learning ?
LOITEOOTEU SH60TSI &HMMEVI& & STE6T QUTMILICLMELD &HMMmeV 6T60T SMPHEHLILGHR M.

A Programmed learning

G LA L &mHmeL (Wemm
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B: Constructivist approach
&L LenLIL| &0IE (LM
C: Demostration
QFWSIHTLLGY (Pemm
D: Experiential learning
S|SWILIEUE &DHMEL.
The main objective of item analysis is to find out the

QUITHET LIGLILTUleNeT &R W CHT&H SN SHevor L MIWLILGeUSICS & Lh

A: Validity of each item
Q6UQRUTIH QUITHET 6T QEFLILIQUITSESHS STanln
B : Difficulty value of each item
R6IQEUTH QLIMTH6r6T &19.60T Blemev LOGHLIL|
C: Reliability of each item
626UQGUTH QLB 60T [5LDLIG & S 60TemLn
D : Usuability of each item
626UQGUTIH QLB 6T LIWeT LSS5 Gnlqll &6Te0L0
GER in Higher Education refers to :
GER eTedTLIZI 2 Wfsevallulley 9986 GmMe&RmE.

A: Gross enrolment rate
Gross enrolment rate
B: Gross enlargement rate
Gross enlargement rate
C: Gross enrolment ratio
Gross enrolment ratio
D : Gross education ratio

Gross education ratio

Historical and documentary research offers a means of promoting which seems especially appropriate in a field as diverse and challenging as
education.

0 (L6060l MG 5 & 1q LI QUTELTMI LDMHMILD SLEIETT L TMILIEFS), LIevellSL0meot 6T [ GIbIMTE & & 60)6M& 618 MesorL
SHevallwilwiey GUIMETM SlIeMMEG FMLILITES QUTIHHSS Folq UG

A Logical positivism
&5756 FHUNeumer WMHECLIME G @)Wlev
B: Methodological pluralism
alflalens LSS L LIVGHITSHG @)ul6v
C: Phenomenological inquiry
&HHS S B 319.LLemLullevmeor 'seoor(GILILG (hemm
D: Multi-method Approach
LI6L6UEM & 2§50 (& (LO6M M.

Which one of the following is appropriate, when it is difficult to identify the members of the derived population like deep-sea divers ?
Q&L PSR eTWCaumy GUMeTm GMILILIL L Q& Tend Ul 6Ten [ @)60T I &T600T LIS 6T60TLIGI 819.60TLOMT6OTS & LD
LY 6tTeu (B eueTalMMIET 615 @ &ements GMILILIGHS erma!?

A: Snowball sampling

UesflliLIB S QB Ten s 6T(H S H60 616 &
B: Quota sampling

STUUMT / STULlerT Q& memnds 6T(H &S 60 660 5.
C: Judgemental sampling

BEFTT QF TG 6T(HSH6V 6N
D: Convenience sampling

FHETUFRH&HCHMHL QS Tem s 61(H &6V EUEN 5
Which of the following is a comparative scaling Technique ?

etraumeueotaumnilev eaLILT () 2jemell(h &6V BILLILD 6TF1?

A: Rank order Scaling
sraflos oeraiih
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B: Continuous rating

QaTLFFR WMt LS LILTH
C: Multiple category scaling
Lieveuends arai(

D: Itemized rating
2 6T6TL &8 G LILTH

10 Focus group as a method was developed in Columbia University by .
GSMULILL LT emL W Wenm Q& TeDLIWIT LI&HEHEDET 60 @6eUTH6TT6 2 (BeM&HsL QLIHMSI.

A': Robert Merton his and colleagues
TTUTL QLOJL 6T & 16UTS! [H600TLIT&H6T
B: Morgar and Kruger
DTS & &HeHSHT
C: Feldwick and Winstanley
SQUEL NS & efledreruLmeoTed]
D: Glaser and his colleagues
&HCOTFT & |6UTSI [H600T LIT& 6T

11 Arrange the steps of research in a sequential order
(1) Identifying a research problem
(2) Specifying the purpose for research
(3) Reviewing the literature
(4) Collecting the data
(5) Reporting and evaluating research
(6) Analysing and interpreting the data
Choose the correct sequence.
2TTUFR W6 Ly sHameT alflengIL(Bh &S 0D
(1) @L,rmMUERUN6T LITEF emeoTan il 365 WIMETLD &T6woT LIS,
) SrTERNWleT CBMEsSms GMILILNHleug.
(3) @VER WGHMS FLILITUIG] QFUIH6.
4) Bra|H6T CFHHGH 6.
(5) @lla] S|MGen s WHMID LHLILTEH QFUIg560
(6) BIeYSen6T LGLILMUIE QF WIS oMM elersaid QFUIgHe6.
Fiflwmer auflensenwl 5T HOSH & & LD.

Az (1),(2),(3),(4). (5, (6)

OB G ©

B: (1), (2. (3),4),(6), (5
H@ABG®H© G

C: (1),3),(2). (4,5
HRRH G ©

D: (2),(1).(3), 4, (6), (5
QOO G

12 Which among the following is not the method used for drawing a random sample ?

LY etreupelesTalmMI6T 6T&l (B Ermm mHflenwt eT(H1&8 LILeTUGSSLILIGILD (DM S{6V6.

A: Lottery method
GVESHE WD
B: Grid system
QUEmELLIEMLOLILY
C: Tippet system
LU 9lemoliL]
D: Census system
5 600TH G &HBHILIL| 2(6emLDLIL]

13 A portrayal and explanation of social groups in their real-life context is .
FONGG & (DG 5660 2_6UoTen LOWITET QUMD&HM&BEF @GLp6edlev, RG] nmmild elleTd s

A: Ethnography

@ eoral ey
B: Grounded Theory

I LIl & GaHITLLM(H
C: Retrospective Studies

LN etTCaT &G 2,16 & 6T
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D: Comparative Studies

UL () 916 &6

14 In the traditional model of the mass communication process, feedback is

QUGN $&H6I6V QHTLIL QFwewnenmuiler Lmyufluw Lnrr@rﬁuﬁlev Nedremm_L_ b NG )

A: Inferential and delayed
WPYe|emT LLHOILD STLOSLOTETS!
B: Delayed and declined
SMDGOTOIS! DD GODHSS!
C: Inferential and declined
WYe|emT LHDID GMDHHS!
D: Declined and interpret
GOMBSS LDMHMID eNeTs o LILIL LS.
15 The oldest model of communication is based on :
LILDEmLOWIT60T S86u60 QFMLFL mH il 61 60T 2iiq LiLien L ufeumeorai?

A: Pam's model
umdledr r& i
B: Aristotle's Rhetoric
flevLmligeb QFTHRUT 6
C: Chuck model
F& wrHi
D: Marshall mclutun model
LOMFe960 QL& TS 60T 0 mHif]
16 Communication which does not include words but communicates a message is

QAMTSMSSHET @VEVTINE QFUIH MG QHFleN& @G 56160 QSTLTL] 61517

A: Verbal
Mm@
B: Non Verbal

UMUAWLTY 2jeuTSH Sl

C: Encoding
GIICY
D: decoding
&BIuTE Bsse
17 What is the significance of "technologies for communicating publicly to many at a distance" in the history of mass media ?

QEUGRET 26L& aITTMHNI6 "G Teneuailey 2 6TeT LIGW(BL 6T LIS THISINSES QSTLTL Q& TeTels M mer Qg mylley
BIL LIS e (n&H WS SIalD eTeireor?
A They are solely responsible for the evolution of mass media
Sjem6 DL (BHIGLD Qleu@GeeuT 26L& Mhig6rflesr LIfleooT o eueTIEFF & &L QUIMmILILIMT6Ten 6l
B: They are one of the key factors driving the development and dissemination of mass media.
2|6l Q6 (& 60T 26L& IS 66T aUeTJ&FG MM LITaI6m6V @ W&HGLD (&SW &Tyevoll&erfle spedTm M@
C: They have no significant impact on the social and cultural impact of mass media
S|606U G161 (G 860T 26TL_G IS 66T FeNG DMHMILD HEVTEFTT SMHHSEHN G 558586 HTHESMS JHUDGSS TS
D: They are primarily a consequence of the social and organizational structure of mass media.
3|M6 (NG ETEMLOWITE Gl6U (G 60T 26L& IG5 6il60T FeLpgs LM MILD Blmieuest &L L emoliL|&erler aflemerelm@Ld.

18 The first press commission was formed in the year of :
WwsTag LISHFlens &L6960T 60L& LI L 3,600T(h)

A: 1952
1952
B: 1958
1958
C: 1968
1968
D: 1975

1975
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19 A two digit number becomes five-sixth of itself when its digits are reversed. The two dogits differ by one. The number is :
(5 @) T6uoT(H) ©)6V5 5 6TEUOTE0T TEUTS!, & 60T E@)L_hIGHeM6T LDMHMIDGCLITS! Sl 5/6 611G 6T600T600T T LDTMIHMSI. @) Tevor(h)
Qo5 mIS 66T el &SI WITEFLD 6T 6T60T 16V, 2[H& 6T6v0T B GLD.
A: 54
54
B: 45
45
C: 56
56
D: 65
65
20 The time of oscillation of a pendulum varies as the square root of its length. If a pendulam of length 44 cm oscillates once in a second, then the length of the

pendulam oscillating once in 2.5 seconds is :
62 (1H 26a1F 601607 2J6em6V6) CHITLOMTETSI 3G 60T BeTSHH 60T Q&GS MS QUTHSS MTMIRMS!. 44 QF.L5. Barpen L @b
261560 2(1H GBIMTIY&HG R (MM 2ETFVTHIRMS! 6T60T160, 2.5 QBITILE G R (LM 281FeuM(HILD 261560 60T HeTLD.

A: 275cm
275 Q& .L8.
B: 275.18 cm
275.18 Q&.18.
C: 1375cm
137.5 Q&.18.
D: 145cm
145 Q&.18.
21 Arjun got 68 percent marks and Arvind got 640 marks in a test. The maximum marks of the test is equal to the marks obtained by Arjun and Arvind together.

How many marks did Arjun score in the test ?

2@ CHTaI6L 2 TEI6dT 68% LG LIGLIGOTHET QUMHMITT MMID 3Fellbs 640 LDH LG LTS QUDOMTY. CHreller AR EHLL &
LS IG LI6TOTE: 6T 2 Teg 6T LoMmmILD Tellbd @ BelBLd CFIHE QUMM LHLIGLIGTHEHE S Fold. CHIalley & Fegeir

615 5607607 LOB) 16\ LI600TSS 6T 6T(D &S TH?

A: 1260
1260
B: 1360
1360
C: 1400
1400
D: 1440
1440

22 A bought a cycle for Rs. 1500 which he sold to B for Rs. 1200 after a year. Find his loss percentage :
A eTeaTL6T 6 LG 6U6oTIq 60U €. 1,500-8:@& GUITMBIS B 6T6dTLIOU([HE @ @ 6UHLLD (LPIQHSSID eb.1,200-8E& eNMMmIT eT6vflev
SQUHEM L gL &SN SO

A: 30%
30%
B: 25%
25%
C: 20%
20%
D: 10%
10%

23 If MACHINE is coded as 19-7 -9 - 14 - 15-20 - 11.
How will you code DANGER ?

"MACHINE" 6T60TLIGI 19-7-9-14-15-20-11 6T6o18 @GMIWIL L M6V "DANGER" eT6dTLIGI 6TLILILG. &MWL 6UITLD

A: 11-7-20-16-11-24
11-7-20-16-11-24

B: 13-7-20-9-11-25
13-7-20-9-11-25

C: 10-7-20-13-11-24
10-7-20-13-11-24
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24

25

26

27

28

D: 13-7-20-10-11-25
13-7-20-10-11-25
'Water' is related to Ocean in the same way as 'snow' is related to

He00T6er0N [ L SVIL 60T QBTLIL L WS 3165 audluilev Lieof] 2 L 6T QSMLILemL WG

A: Glacier

Uenflll Limemm

B: Peaks
G &I HIG6T
C: Hail

SLELVMHIGLLY LDEMLD
D: Mountain

L0 60) 6V
Find the correct alternative.
Flying : Bird : : Creeping : ?

Frflwimeot LOMHMI & e6vorL_niluie]nh
LM&@LD: LMmemel :: Seu(pLd:

A Aecroplane
eilLomeoTLd

B: Ground
S0y

C: Flower
LL&86IT

D: Snail
BSNS

If red is called orange, orange is called blue, blue is called green, green is called black and black is called brown, what is the colour of coal ?

Faulil BImSHens 2b,TEH5 eTetra|ld, O1JEha BIm&ens Heulh erara]ld, Hev BIMGNS LIS & eTamalld, LIFend BlmSemns & (HLL
6TauTe LD &BLIL| BIME S LILPLIL] 6T6Ta] D Fnnileormev Blevs & iflufledr BlmLD eTedreor?

A Black
SHLIL
B: Brown
LUy
C: Green
Lugeng
D: Blue
Beuld

Statements : Morning walks are good for health.
Conclusions : I : All healthy people go for morning walks.
11 : Evening walks are harmful.

Choose the correct option :

FnMml: STV B LUNDHE 2 L6b HevsHM& Hevevg.
W96 I: TS LG TSR WLDTETEUTSHEFLD &Memev L LIUIMHE CLmASTeTR 6TMITH.
W19 II: IDMem6V HeMLLIWLME 2 L upevsHMHE& Co @0 aflemeralld @Ln.

A: Only conclusion I follows
Y| I GG QBSHESLD
B: Only conclusion II follows
We I LGHEL @ @HE LD
C: Either conclusion I or II follows
W96 1 346V6v8! (P61l GBSHGLD
D : Neither conclusion I nor II follows
eI OHMID 96| I @ TG G @) HEHETS

If in a certain language, MIRACLE is coded as NKUEHRL, then how GAMBLE coded in that language ?
@@® GOIUALL Qurlluiléy MIRACLE 6T6TLIgI NKUEHRL 6760 GMléa 1L (Hl6Tengl eTedrmmey bd QLomisluley GAMBLE
ereuaumm GMIUILLILG&HmSI?

A: JDOCMF
JDOCMF
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B: CLEMNK
CLEMNK
C: HCPFQK
HCPFQK
D: AELGMN
AELGMN
29 The data given below represents a sample study about the coffee habits in two towns.
Town X Town Y
Atribut Total Total
Males | Fernales Males | Ferales
Coffee drinkers 16 9 25 18 10 28
non-coffee drinkers | 34 39 75 37 35 72
Total 52 48 100 55 45 100
Find out what percentage of male Coffee drinkers in Town X and coffee drinkers in Town Y.
£Cy QanflasuulLflereT ey Biysirh) marmsefls e srer sma SymbHED Lsskesst ubmiw wrdlfl suiey
BB,
HELD X HETLD Y
LIGTTLY 61T
ZuEmese | QueimssT | Qorssh | ssmser | QuesmssT | GLomssn
&Ml
S bgLeTEST 16 9 25 18 10 28
L 36 39 75 37 35 %
SUHESTSEUTHET
Quongsio 52 48 100 55 45 100
X mansElsn sl SymbHID SETTSsT WHIID Y hersdles smil oy mhsusuFesflsT &5aefHshaemeT sirsms.
A 16%, 55%
16%, 55%
B: 16%, 18%
16%, 18%
C: 16%,28%
16%, 28%
D: 52%,55%
52%, 55%
30 Given below are two statements :
Statement (I)A histogram is a graphical method for presenting data
Statement (II)The frequency of the observations is depicted along horizontal axis.
Choose the most appropriate answer from the options given below.
BB @\ T60oT(H G (D MIG6T Q& IT(H &G LILIL (B)GT6T6DT.
My I: QF6I6IS auemTLIL LD Sredlener FL0FLILILIGME MeoT 62([H 616M I LIL (D6 M/
Famml 1I: sevorL_ 65 aflaumigerler BlspGalaT Henl ol L FF6 AS56s0LL B 6Tengl.
FECL O&EMHHEsLILL G dTaTanalsafedl?BhE L&a|h QUTHSSL0M LFHame CHIHAS0.
A Statement (I) and Statement (II) are correct
Famm 1 IDMHMID S mmi 1T FiflimeTenel
B : Both Statement (I) and Statement (II) are incorrect
Famo I LDHDILD FadHm 11 @ Feoor(H)GLD SH6UMTEOTEr6.
C: Statement (I) is incorrect and Statement (II) is correct
FaMml 1 UM Gnmmi 11 &ilmers
D: Statement (I) is correct and Statement (II) is incorrect
FaHml 1 Fifl LHDID FaHMI T HEUMTETSI
31
The width of size class in the following data is:
Size class Frequency
0-10 5
10-20 1"
20-20 19
30-40 21
40-50 16
50-60 10
40-70 8
70-80 &
80-%0 3
90-100 1
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EPETEYILD HTeTl60 266 266y eUsmSHUIIeHT 2&6uLD.
2676 UENSH Hl&LD Gleusnor
0-10 5

10-20 1

20-30 19

30-40 21

40-50 16

50-60 10

60-70 8

70-80 6

80-90 3

90-100 1

A: 10
10
B: 5
5
C: 20
20
D: 30
30
32 Population figures published by the censes commissioner are data.

D& GHET QG TN &6iTE6 & (BILIL| L6metor T me QeueullLILI(RID D& &6T Q& Tend 61600600118 60)85 SI6HETTSLD

A Secondary

@)\ JEOOTLITLD [Blemey

B: Primary
(W5 eflemev
C: Both Secondary and Primary
() LDHDID (B)
D: Sample
il
33 The Subset of a population used to collect data is known as:

Frasamers CFa el LWeTUmMSSIUGLWD WG Q5 ME L6 Sl eors s W Lleral(hLmm Senp&saLliLGSmS :

A Survey
&H600T&H G & (H1LIL
B: Sample
&
C: Population
LYo 0FTSH
D: pilot study
(PETGETITIY 2y Ul6Y

34 | 'What is RFP ?
RFP 6T60T M6V 6T60T60T?

A: Request for Plan
Request for Plan

B: Request for Providers
Request for Providers

C: Request for Print
Request for Print

D: Request for Proposal

Request for Proposal

35 Which of the following software DOES NOT support to establish a virtual School/University ?
GGG 600TL. QTG LITIH6rl6L 618 QOWIBIGT LiaTerfl/LIs0&HeneusL080h BlmiaalsmE& o806 eflliLG evensn?

A: Google Meet
Google Meet
B: Blackboard
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Black Board
C: Desire 2 Learn

Desire 2 Learn

D: Moodle
Moodle
36 Identify the key considerations of the planning process of a e-learning design :

19 6dT — HMHMEL aUlgeUen DL N6T HIL L AL 6L Q&F WL MUINEDT Fn MIGHEDI6T 60 LLLITETLD & MeuTayLD

A: Tutor, Audience, Computer
LAWY, UMFenelwmer(y, &evofleot]
B: Blackboard, Audience, Tutor
S(BLLIVEM S, LITTemau W meTy, @ flwiy
C: Audience, Resource needs, Proposed Learning Outcomes, Assessment needs and methods

LITTemeUWTeT, G566 WIM6oT 6U6T L& TIMHI&ET, (WeT@QWmEwiiul L &Hme) wige|, HLILTE CHemeaussar mmild
LPEMSH6T

D: Audience, Computer, Blackboard, Tutor
UMFenelwmern(y, &evofleot], &@mLOLIVem S, LS flwii

37 Which one of the following is NOT an educational technology production unit ?
LN etTeueueTeumnlev 6181 H6vel QSTUEIL LI 2 HUSH D60 26V6v?

A: ETC
ETC
B: SIET
SIET
C: EMRC
EMRC
D: AVRC
AVRC
38 Web indexes provide a search facility to help users locate resources. Choose the incorrect web indexes from the following.

aem6ev GMIUTH G 6T LILIGT T8 E6H8 @ 5T IS em6TS &6soTL_ M 2 S5 lD GF5L 6V UFSH 60 aULPHEIGR M & &L & & 60T L6 M M6t
SaUMTeT alemev GMIUTL 19 emerT GBS H &S] LD.

A http://www.yahoo.com/
http://www.yahoo.com/

B: http://www.webcrawler.com/
http://www.webcrawler.com/

C: http://www.bizweb.com/
http://www.bizweb.com/

D: http://www.search.com/
http://www.search.com/

39 Which of the following is not a common soil metal pollutants ?
LY etTeu (HeueTal MM 6L 6T6uTEl QLITSI6UT60T L06voT 2 GeuMd: LOM&LIHSSH 26060?

A Cadmium
Srlidwid
B: Mercury
UM&J&FLD
C: Cesium
Ferdlwid
D: Lead
smifwib

40 Which one of the following is a Pyrethroid Pesticide ?
Weteueuetmmlev eTemat enuflGImh LEFRSHQ & M6 L&D

A': Fenvalerate
QU6eTCaIVBTL
B: Carbendazim
STIQLETL LD
C: Ziram
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Ry

D: Carbaryl

smiuiflev

41 Identify which characteristic will be exhibited by Carbon Monoxide poisoned person.
SITTLIGT QLmeoTTEenerv(h allag b G1& Mesor 6(HeUT TV 6THS & 6toT TH & WD QeueflliLBILD 6T6dTLIEN S & 6v0rL M Uie)LD?

A: Yellow colour of the flesh
Fen s W6 LDEHEF 6T BIMLD
B: Black colour of the flesh
Feng W6 &(HenLn BIMLD
C: Bright pink colour of the flesh
FangWler @emesFeuliL] BImLD
D: Blue colour of the flesh
FengWiledr Hev BIMLD
42 Which of the following human activity resulting the lose of genetic diversity in fishes ?

FELDGHGETEID 6TalaIms L0605 BLall)&Hemns Weraerfler nrusm afliflin @LLiin@ 2i9CsTaHma?

A': Hatcheries

GE&EUTllusLD
B: Overexploitation

L) 60) & & &+ [ 600T L6V
C: Pollution

LOI&UM(H

D: Hydropower
By fletT e4HM6V
43 Select the correct option of the features of National Policy on education 1986.
a. This policy provided 10+2+3 system of education at the national level.
b. It provided equal opportunities to all for education.
c. Special emphasis was given to women education.

d. Adult education was introduced to remove the illiteracy from the mass.
Options :

1986607 GBS Hevalld: Q& MeTen & UNar SilbhsmiIGameTLl Limmlw Fiflwmer ellGBLILSCSHTalaner C5FHOSH & LD
2) @HS&H Q&METen S CHF W 3f6malley 10+2+3 &Hevall (PMED L QILPBIR WIS
b) @8 Sevalluiley 2| eaTEl([HE G LD FLOAUTIILILIG&HED 6T 6ULDHIS W S
¢) QLIeuoT SH6LaM& @ RMLILITET (&SR WSSOI Q&HTHEHELILLL &I
d) sevallwpflelletTeninenw QUG mFlwmer &Sl LAGEHS HSHMIMSDHETH IS UHCSHTT &Heuei
P WPsILGSSIUL LS
ANBLILSCHT656T:
A: a,band c are correct
a, b LDMHMILD ¢ FiflwimeTemen
B: b, candd are correct
b, ¢ LnMMILD d FflwimeTemeu
C: a,candd are correct
a, ¢ LDMHMILD d Fiflwimesremeu
D: a,b,candd are correct
a, b, c LDMMILD d FIflWmesTemal
44 The was appointed for the 'Renovation and Rejuvenation of Higher Education'.
2 wisevelenl LigiennliLh&Seh LeTFening&ea L IMDEHLILL LG

A: Prof. Yashpal Sharma Committee
GUIIT. WeQLITeL aQIJLOI &(LD
B: Mudaliar Commission
WEOWTT GW
C: Acharya Narendra Deve Committee
SFFTTW BEIHET HG6U G
D: Radhakrishnan Commission
@\ TS T (b 619.600T60T & (D

45 The British set up the first college based on the western model of formal education in India at serampore near Kolkata in

SLBIH CeWITSHET @BH Wwmelley CLoM&ESHIW (WeanmETT &Heuall 9jiq LiLiemLufleL WS Hevaurflemul Qa;rra)a;g,g,rrcﬁ]m@
BB a6TT QFTDLLIflev @\6L Bl GT TS 6T,
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A: 1818
1818
B: 1825
1825
C: 1860
1860
D: 1872
1872

Case Study from Question No. 46 to Question No. 50

46

47

48

Comprehension :

National Science Day

National Science Day is observed in India every year on February 28 to commemorate Dr. C. V. Raman's ground breaking discovery of the '/Raman Effect' on
that day in 1928. This significant achievement earned him the Nobel Prize for physics in 1930, making him the first Asian to receive this honour. Dr. Raman's
ability to find science in ordinary things revitalised scientific curiosity in India.

The celebration of National Science Day shows the importance of science in our lives. Activities such as speeches, radio programs, TV shows, Science movies,
exhibitions, debates, quiz competitions and teachers are organized in schools and colleges to highlight the role of science in creating better systems and
improving our understanding of the living world.

Dr. Raman's advice - "Ask the right questions, and Nature will open the doors to her secrets" - Serves as an inspiration for future scientists. As we celebrate this
special day, let us foster a scientific mind-set and encourage curiosity, striving to be the future discoveries of new scientific wonders.

yrflgzev:

Cs AW 9 Meflwe Heord

G5 W SiMlaflich Hleorid 1928 QD S4,6v0TI960 L& §.6eM.JmLnedr 'Tmnet aflemeremel’ &600T(HLI1q.5 5605 [Bl6meoTe) dn (HLD
Qe & U6 eI SbLevor(ID LILiTeurf] 28 oieoTm @& Wmailley SieFflEaslILGRME. @bs G S5558 &M eme6oT
IQUHEG 1930 @60 @unLlwassmer GHIMTLIG LUflensll QUMMIS SHSES!, @HS Q&HeTTalSemnL1 QUMM (LNS6V

A WgTerTy. Frgmyer aflaquwkiserfle sinflaflwemevsd eI & @& LTsLT Frinefler Hmer @nb&wmalley oinfleduwisy
iasmns Ussuily QubDS.

G W SiMlaflwicy Hleors ST Q& mevor_ ML LD B eurpellev nflellwiellerr (&SR WS SIaGmSE ST OB M.
QEMHAUTLI6&6T, TG erTed Bl&shEFRGH6T, QSTamaHETL S BlHLPFR &6T, 3imlallich HemTLILIL MhIG6T, &6uTss ML G &6,
afleumgmigeT, aflermiq ellerm CUITLIQ.&6T GUIMETM BlaLhFR GeT LiaTerflam6T nmmild &evauriflgertley gmum
QFEWWLILGGRBTMET, @ HBlGDEST AMHS 2DLILI&HE6T 2 (HelM&HGaSH I, ML 2 &S &L MM HLog
yilsemev GubU@G S ST aviid Sinfleflwiedsr Likiens 6T SSIGHHTLHH M.

L& grneoflet sinfleyeny - "gifluimer CoeTalle:emend: Go@hmhi&H6T, @ UM SeTsl IS LIS EHS STl &56) 56065
FMEHGLD" - THFTHT6V 6l (EhEh el 18 EBH 5 & 2 (h 2 5CaIGID 6aflEHmal. @b F\MLUILITET [HTan6Td 68 mesorL_M{H LD
GalemeTuiey, oiMlailwiey LneTBleneveml aIaTTS S, SLTaISn S 2015 Gall Sl LS W SiMlellc) o5 & WhIgGean6rTd

HeooT(HILN 198G LD eTH T8 MoV 616hEhTesl1&H6TTS MM WWMHS LIGLITLD.

What day is celebrated every year on February 28 ?
R6UQAUTH Leoor(HILD LNLiTeurf] 28 oi60TMI 6TH& BITET Q& Mevor ML LGB mSI?

A: National Physics Day
CsAW @uImLilwiey Heorib
B: Raman Effect
TG el6mI6TeY
C: Raman Day
JITLD6ST HeoTLD
D: National Science Day
CsA W siMlafliey Hleorld
What is emphasised on National Science Day ?

G5 W SiMlafich HleorsH 6V euedumIS S LILIH 6US 6TedT60r?

A: importance of lives
2 Wiljsefler (n&H WS eu0n
B: importance of celebration
Q&TEOTLTL LSS 6T (&R WS Sialn
C: importance of Science in our lives
BLD eumpeiley oinflef el 6T (&R WS SIaILD
D: importance of TV shows
QBMVESTL G &I S 6T (N&HH WS SIaID
Why are activities conducted in schools and colleges on National Science Day ?

CsAW simMlaflwiey Hlergseorm LieTer], Hevauiflgerflev BlesLERGET BLSSLILIB S J60T?

A: To highlight the role of science
nflellwedletr Lillenss (neiTesflemeulILI(H S S

B: To improve life
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AUMPHMEHMW CLUBSS

C: To show celebration
Q&MeOTLITL L &6M&H& ST L
D: To be happy
LRADFAWNTS @) (H&HS
49 What did Dr. C. V. Raman discover ?
L&l B.e0.5mner &eorQLN.55 5! 6T60Teor?

A: Raman Defect
TTLO6T G6emmUT(h
B: Raman Effect
TG el6m6me
C: Raman Affect
TGS LIS
D: Raman Reflect
et LFG LedliL
50 Which year did Dr. C. V. Raman receive the Nobel prize for Physics ?
LI&LT .60.0mwner 67hs <peor(® @umLilwsigsmer GBIL6 LFflengl QuUmdTT?

A: 1928
1928
B: 1982
1982
C: 1930
1930
D: 1903

1903
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